[bookmark: _GoBack]乗除の混じった計算
氏名(　　　　　　　　)

１　次の計算をしなさい。
　
(1)　(－4)×6×(－25)　　　　(2)　12×5÷(－3)　　　　(3)　－10×(－7)×(－0.2)







　(4)　16÷(－4)×9　　　　　　(5)　－5×0.3×(－2) 　　　　(6)　24÷(－4)÷(－3)　　








　(7)　　　　　　(8)　(－22)×(－13)　　　　(9)　(－3)2÷(－33)







(10) －42÷(－2)3









【解答】
乗除の混じった計算
氏名(　　　　　　　　)
１　次の計算をしなさい。
　
(1)　(－4)×6×(－25)　　　　　(2)　12×5÷(－3)　　　(3)　－10×(－7)×(－0.2)


　　　６００　　　　　　　　　　　　　－２０　　　　　　　　　－１４




　(4)　16÷(－4)×9　　　　　　　(5)　－5×0.3×(－2) 　　　(6)　24÷(－4)÷(－3)　　


　　－３６　　　　　　　　　　　　　　３　　　　　　　　　　　２





　(7)　　　　　　(8)　(－22)×(－13)　　　　(9)　(－3)2÷(－33)


　　－２７／５　　　　　　　　　　　　４　　　　　　　　　　　　　－１／３




(10) －42÷(－2)3


　　　２
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